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QUESTION 1

After the server receives the PADR sent by the client, which message will be sent as the response and to identify the
connection? 

A. PADS 

B. PADR 

C. PADO 

D. PADT 

Correct Answer: A 

 

QUESTION 2

The VRRP advertfse-lnterval is 2s, preempt mode is enabled, Delay Time is 3s, then which of the following is the
Master_Down_Interval time? 

A. 2s 

B. 4s 

C. 9s 

D. 6s 

Correct Answer: A 

 

QUESTION 3

The following commands ate configured on the router running BGP: 

bgp 100 peer 12.12.12.2 as-number 200 ipv4familyunicast network 1,1.1.1 255.255.255.255 undo synchronization peer
12.12.12.2 enable peer 12.12.12.2 next-hop-local The IP address of the router\\'s interface connected with peer
12.12.12.2 is 12.12.12.1. 

What\\'s the function of the command "peer 12.12.12.2 next-hop-local"? 

A. Change the next hop of the routes generated locally as 12.12.12.1 

B. This command does not work at all 

C. Change the next hop of the routes advertised to peer 12.12.12.2 as 12.12.12.1 

D. Change the next hop of the routes received from peer 12.12.12.2 as 12.12.12.2 

Correct Answer: D 
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QUESTION 4

Which of the following statements is correct regarding virtual router? 

A. If multiple routers are configured with the same virtual router ID.they all associate to the same virtual router. 

B. If multiple routers associate to the same virtual router, they must be configured with the same virtual router ID and at
feast one virtual IP address. 

C. If multiple routers associate to the same virtual router, they must be configured with the same virtual router ID and
virtual IP address. 

D. If multiple routers are configured with the same virtual IP address, they all associate to the same virtual 

router. 

Correct Answer: A 

 

QUESTION 5

How does MPLS BGP VPN handle the problem of address overlapping of different VPN sites? 

A. To use different routing protocols In the backbone network for afferent VPN. 

B. To maintain separate VRF lor different VPN. 

C. To allocate unique RT for each VPN. 

D. To allocate different LSP for each VPN. 

E. To allocate unique RD for each VPN. 

Correct Answer: A 

 

QUESTION 6

Is the following statement correct or incorrect? Because a bypass tunnel Is manually created during TE FRR
configuration, the constraint shortest path first (CSPF) does not need to be enabled. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 7

Which of the following statements regarding the description of MPLS are correct? 

A. Egress LER forwards packets based on IP routing table. 
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B. Core LSR forwards packets based on label. 

C. Ingress LER forwards packets based on label. 

D. Core LSR forwards packets based on IP routing table. 

Correct Answer: AB 

 

QUESTION 8

PIM-SM relies on particular unicast routing protocol for RPF check. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 9

The Ethernet switch working in store and forward mode drops the frame with length smaller than 64 bytes. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 10

Which of the following statements regarding Attachment Bit are correct? 

A. After the Level! router receives Level-1 LSP with Attachment bit set to 1, it will generates default route with the
nearest Level-1-2 router as the next hop. 

B. The Attachment Bit can be generated by the Level-2 or Level-1-2 router. 

C. The Attachment Bit can be generated in Level-2 LSP. 

D. The Attachment Bit is carried In Level-1 LSP generated by Level-1-2 router connected to another area. 

Correct Answer: A 
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